
Multipliziere halbschriftlich!

236 · 9 = 842 · 5 =
4 490· 4 = 956 · 9 =

4 620· 8 = 6 521· 3 =
460 · 3 = 740 · 7 =

5 591· 6 = 2 010· 6 =

499 · 5 = 456 · 9 =

7 030· 9 = 6 155· 7 =

5 286· 3 = 680 · 4 =

4 880· 8 = 6 270· 8 =

2 651· 6 = 296 · 5 =

580 · 7 = 1 940· 6 =

580 · 8 = 924 · 2 =

390 · 4 = 236 · 7 =
9 998· 7 = 6 140· 4 =

886 · 9 = 7 271· 6 =

7 576· 8 = 3 699· 9 =
530 · 3 = 7 620· 3 =

9 082· 4 = 488 · 4 =

270 · 9 = 5 410· 8 =
480 · 4 = 310 · 9 =

434 · 7 = 4 363· 3 =

7 419· 6 = 8 110· 7 =

5 590· 2 = 170 · 5 =



Lösungen:

236 · 9 = 2 124 842 · 5 = 4 210
4 490· 4 = 17 960 956 · 9 = 8 604

4 620· 8 = 36 960 6 521· 3 = 19 563
460 · 3 = 1 380 740 · 7 = 5 180

5 591· 6 = 33 546 2 010· 6 = 12 060

499 · 5 = 2 495 456 · 9 = 4 104

7 030· 9 = 63 270 6 155· 7 = 43 085

5 286· 3 = 15 858 680 · 4 = 2 720

4 880· 8 = 39 040 6 270· 8 = 50 160

2 651· 6 = 15 906 296 · 5 = 1 480

580 · 7 = 4 060 1 940· 6 = 11 640

580 · 8 = 4 640 924 · 2 = 1 848

390 · 4 = 1 560 236 · 7 = 1 652
9 998· 7 = 69 986 6 140· 4 = 24 560

886 · 9 = 7 974 7 271· 6 = 43 626

7 576· 8 = 60 608 3 699· 9 = 33 291
530 · 3 = 1 590 7 620· 3 = 22 860

9 082· 4 = 36 328 488 · 4 = 1 952

270 · 9 = 2 430 5 410· 8 = 43 280
480 · 4 = 1 920 310 · 9 = 2 790

434 · 7 = 3 038 4 363· 3 = 13 089
7 419· 6 = 44 514 8 110· 7 = 56 770

5 590· 2 = 11 180 170 · 5 = 850
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